A New System of Generalized Nonlinear Mixed Variational Inequalities in Hilbert Spaces

Jong Kyu Kim

Department of Mathematics, Kyungnam University, Masan, Kyungnam 631-701, Korea jongkyuk@kyungnam.ac.kr

Do Sang Kim

Department of Applied Mathematics, Pukyoug National University, Pasan, 608-737, Korea dskim@dolphin.pknu.ac.kr

Received July 7, 2002 Revised manuscript received November 11, 2003

In this paper, we introduce and study a new system of generalized nonlinear mixed variational inequalities in Hilbert spaces. We prove the existence and uniqueness of solution for this system of generalized nonlinear mixed variational inequalities. We also give the convergence of the Mann iterative sequences with errors for this system of generalized nonlinear mixed variational inequalities in Hilbert spaces.

Keywords: A system of generalized nonlinear mixed variational inequalities, Mann iterative sequence with errors, nonlinear mapping, existence

2000 Mathematics Subject Classification: 49J40

1. Introduction and Preliminaries

It is known that variational inequality theory and complementarity problem are very powerful tools of the current mathematical technology. In recent years, classical variational inequalities and complementarity problems have been extended and generalized to study a large variety of problems arising in mechanics, physics, optimization and control, nonlinear programming, economics and transportation equilibrium, and engineering sciences, etc. (see [1], [2], [4]-[22] and the reference therein).

In 1999, Verma [20] introduced and studied a new system of nonlinear variational inequalities based on a new system of iterative algorithms. Very recently, Verma [21] investigated the approximation-solvability of a new system of nonlinear quasi-variational inequalities in Hilbert spaces.

Motivated and inspired by the above works, in this paper, we introduce and study a new system of generalized nonlinear mixed variational inequalities in Hilbert spaces. We prove the existence and uniqueness of solution for this system of generalized nonlinear mixed variational inequalities. We also give the convergence of the Mann iterative sequences with errors for this system of generalized nonlinear mixed variational inequalities in Hilbert spaces.

Throughout this paper, let H be a real Hilbert space endowed with the inner product

ISSN 0944-6532 / 2.50 \odot Heldermann Verlag

 $\langle \cdot, \cdot \rangle$ and norm $\|\cdot\|$. Let $A, B, S, T : H \to H$ be four single-valued mappings and $\varphi : H \to R \bigcup \{+\infty\}$ be a proper convex lower semicontinuous function. We consider the following problem:

Find $x^*, y^* \in H$ such that

$$\begin{cases} \langle \rho Ay^* + Sy^* + x^* - y^*, x - x^* \rangle \ge \rho \varphi(x^*) - \rho \varphi(x), & \forall x \in H, \\ \langle \gamma Bx^* + Tx^* + y^* - x^*, x - y^* \rangle \ge \gamma \varphi(y^*) - \gamma \varphi(x), & \forall x \in H, \end{cases}$$
(1)

which is called the system of generalized nonlinear mixed variational inequalities, where $\rho > 0$ and $\gamma > 0$ are two constants.

Special cases of the problem (1) as follows:

(I) If A = B = 0, then the problem (1) reduces to finding $x^*, y^* \in H$ such that

$$\begin{cases} \langle \rho Sy^* + x^* - y^*, x - x^* \rangle \ge \rho \varphi(x^*) - \rho \varphi(x), & \forall x \in H, \\ \langle \gamma Tx^* + y^* - x^*, x - y^* \rangle \ge \gamma \varphi(y^*) - \gamma \varphi(x), & \forall x \in H, \end{cases}$$
(2)

which is called the system of nonlinear mixed variational inequalities.

(II) If $\varphi = \delta_K$ (the indicator function of a nonempty closed convex subset K, then the problem (1) reduces to finding $x^*, y^* \in K$ such that

$$\begin{cases} \langle \rho Ay^* + Sy^* + x^* - y^*, x - x^* \rangle \ge 0, & \forall x \in K, \\ \langle \gamma Bx^* + Tx^* + y^* - x^*, x - y^* \rangle \ge 0, & \forall x \in K, \end{cases}$$
(3)

which is called the system of general nonlinear variational inequalities.

(III) If $\varphi = \delta_K$ (the indicator function of a nonempty closed convex subset K and A = B = 0, then the problem (1) reduces to finding $x^*, y^* \in K$ such that

$$\begin{cases} \langle \rho Sy^* + x^* - y^*, x - x^* \rangle \ge 0, & \forall x \in K, \\ \langle \gamma Tx^* + y^* - x^*, x - y^* \rangle \ge 0, & \forall x \in K, \end{cases}$$
(4)

which is called the system of nonlinear variational inequalities.

In the sequel, we give some definitions and lemmas.

Definition 1.1. A mapping $T: H \to H$ is said to be k-strongly monotone if there exists a constant k > 0 such that

$$\langle Tx - Ty, x - y \rangle \ge k \|x - y\|^2, \quad \forall x, y \in H$$

Definition 1.2. A mapping $T : H \to H$ is said to be *s*-Lipschitz continuous if there exists a constant s > 0 such that

$$||Tx - Ty|| \le s||x - y||, \quad \forall x, y \in H.$$

Lemma 1.3. Let $\{a_n\}, \{b_n\}$, and $\{c_n\}$ be three sequences of nonnegative numbers satisfying the following conditions: there exists n_0 such that

$$a_{n+1} \le (1-t_n)a_n + b_n t_n + c_n, \quad \forall n \ge n_0, \tag{5}$$

where

$$t_n \in [0, 1], \quad \sum_{n=0}^{\infty} t_n = +\infty, \quad \lim_{n \to \infty} b_n = 0, \quad \sum_{n=0}^{\infty} c_n < +\infty.$$

Then $a_n \to 0$ as $n \to +\infty$.

Proof. Let $\sigma = \inf\{a_n : n \ge n_0\}$. Then $\sigma \ge 0$. Suppose that $\sigma > 0$ and so $a_n \ge \sigma > 0$ for all $n \ge n_0$. It follows from (5) that, for all $n \ge n_0$,

$$a_{n+1} \leq a_n - \sigma t_n + t_n b_n + c_n = a_n - (\frac{1}{2}\sigma - b_n)t_n - \frac{1}{2}\sigma t_n + c_n.$$
(6)

Since $b_n \to 0$ as $n \to \infty$, there exists $n_1 \ge n_0$ such that

$$\frac{1}{2}\sigma \ge b_n, \quad \forall n \ge n_1. \tag{7}$$

Combining (6) and (7), we get

$$a_{n+1} \le a_n - \frac{1}{2}\sigma t_n + c_n, \quad \forall n \ge n_1.$$

This implies that

$$\frac{1}{2}\sigma\sum_{n=n_1}^{\infty}t_n \le a_{n_1} + \sum_{n=n_1}^{\infty}c_n < +\infty,$$

which is a contradiction. Therefore, $\sigma = 0$ and so there exists a subsequence $\{a_{n_j}\} \subset \{a_n\}$ such that $a_{n_j} \to 0$ as $j \to \infty$. It follows from (5) that

$$a_{n_j+1} \le a_{n_j} + b_{n_j} t_{n_j} + c_{n_j}$$

and so $a_{n_j+1} \to 0$ as $j \to \infty$. A simple induction leads to $a_{n_j+k} \to 0$ as $j \to \infty$ for all $k \ge 1$ and this means that $a_n \to 0$ as $n \to \infty$. This completes the proof of Lemma 1.3.

Lemma 1.4 ([3], [22]). For a given $u \in H$, the point $z \in H$ satisfies the following inequality

$$\langle u - z, v - u \rangle \ge \rho \varphi(u) - \rho \varphi(v), \quad \forall v \in H$$

if and only if

$$u = J^{\rho}_{\omega}(z),$$

where $J_{\varphi}^{\rho} = (I + \rho \partial \varphi)^{-1}$ and $\partial \varphi$ denotes the subdifferential of a proper convex lower semicontinuous function φ .

Lemma 1.5. For given $x^*, y^* \in H$, (x^*, y^*) is a solution of the problem (1) if and only if

$$\left\{ \begin{array}{l} x^{*} = J^{\rho}_{\varphi}(y^{*} - \rho(Ay^{*} + Sy^{*})), \\ y^{*} = J^{\rho}_{\varphi}(x^{*} - \gamma(Bx^{*} + Tx^{*})). \end{array} \right.$$

Proof. It is easy to know that Lemma 1.5 follows from Lemma 1.4 and so the proof is omitted. \Box

2. Existence and Uniqueness

In this section, we shall show the existence and uniqueness of solution for the problems (1), (2), (3) and (4), respectively.

Theorem 2.1. Let $S : H \to H$ be a k_1 -strongly monotone and s_1 -Lipschitz continuous mapping, $T : H \to H$ be a k_2 -strongly monotone and s_2 -Lipschitz continuous mapping, $A : H \to H$ be a l_1 -Lipschitz continuous mapping, and $B : H \to H$ be a l_2 -Lipschitz continuous mapping. If

$$0 < \rho < \min\{\frac{2(k_1 - l_1)}{s_1^2 - l_1^2}, \frac{1}{l_1}\}, \quad l_1 < k_1, \\ 0 < \gamma < \min\{\frac{2(k_2 - l_2)}{s_2^2 - l_2^2}, \frac{1}{l_2}\}, \quad l_2 < k_2, \end{cases}$$

$$(8)$$

then the problem (1) has a unique solution (x^*, y^*) .

Proof. First, we prove the existence of the solution. Define a mapping $F : H \to H$ as follows:

$$F(x) = J^{\rho}_{\varphi}[J^{\gamma}_{\varphi}(x - \gamma(Bx + Tx)) - \rho(A + S)(J^{\gamma}_{\varphi}(x - \gamma(Bx + Tx)))], \quad \forall x \in H.$$
(9)

Since J^{ρ}_{φ} is a nonexpansive mapping [3], [22], for any $x, y \in H$, we have

$$\begin{split} \|F(x) - F(y)\| \\ &= \|J_{\varphi}^{\rho}[J_{\varphi}^{\gamma}(x - \gamma(Bx + Tx)) - \rho(A + S)(J_{\varphi}^{\gamma}(x - \gamma(Bx + Tx)))] \\ &- J_{\varphi}^{\rho}[J_{\varphi}^{\gamma}(y - \gamma(By + Ty)) - \rho(A + S)(J_{\varphi}^{\gamma}(y - \gamma(By + Ty)))]\| \\ &\leq \|J_{\varphi}^{\gamma}(x - \gamma(Bx + Tx)) - J_{\varphi}^{\gamma}(y - \gamma(By + Ty)) \\ &- \rho(S(J_{\varphi}^{\gamma}(x - \gamma(Bx + Tx))) - S(J_{\varphi}^{\gamma}(y - \gamma(By + Ty))))\| \\ &+ \rho \|A(J_{\varphi}^{\gamma}(x - \gamma(Bx + Tx))) - A(J_{\varphi}^{\gamma}(y - \gamma(By + Ty)))\|. \end{split}$$
(10)

Since S, T are strongly monotone and A, B, S, T are all Lipschitz continuous, it follows that

$$\begin{split} \|J_{\varphi}^{\gamma}(x-\gamma(Bx+Tx)) - J_{\varphi}^{\gamma}(y-\gamma(By+Ty)) \\ &-\rho(S(J_{\varphi}^{\gamma}(x-\gamma(Bx+Tx))) - S(J_{\varphi}^{\gamma}(y-\gamma(By+Ty)))\|^{2} \\ &= \|J_{\varphi}^{\gamma}(x-\gamma(Bx+Tx)) - J_{\varphi}^{\gamma}(y-\gamma(By+Ty))\|^{2} \\ &+\rho^{2}\|S(J_{\varphi}^{\gamma}(x-\gamma(Bx+Tx))) - S(J_{\varphi}^{\gamma}(y-\gamma(By+Ty)))\|^{2} \\ &-2\rho\langle J_{\varphi}^{\gamma}(x-\gamma(Bx+Tx)) - J_{\varphi}^{\gamma}(y-\gamma(By+Ty))\|^{2} \\ &\leq \|J_{\varphi}^{\gamma}(x-\gamma(Bx+Tx)) - J_{\varphi}^{\gamma}(y-\gamma(By+Ty))\|^{2} \\ &+\rho^{2}s_{1}^{2}\|J_{\varphi}^{\gamma}(x-\gamma(Bx+Tx)) - J_{\varphi}^{\gamma}(y-\gamma(By+Ty))\|^{2} \\ &\leq (1-2\rho k_{1}+\rho^{2}s_{1}^{2})\|J_{\varphi}^{\gamma}(x-\gamma(Bx+Tx)) - J_{\varphi}^{\gamma}(y-\gamma(By+Ty))\|^{2} \\ &\leq (1-2\rho k_{1}+\rho^{2}s_{1}^{2})\|J_{\varphi}^{\gamma}(x-\gamma(Bx+Tx)) - J_{\varphi}^{\gamma}(y-\gamma(By+Ty))\|^{2} \\ &\leq (1-2\rho k_{1}+\rho^{2}s_{1}^{2})\|x-y-\gamma((Bx+Tx)-(By+Ty))\|^{2} \\ &\leq (1-2\rho k_{1}+\rho^{2}s_{1}^{2}) \\ &\cdot[\sqrt{\|x-y\|^{2}-2\gamma\langle x-y,Tx-Ty\rangle+\gamma^{2}\|Tx-Ty\|}+\gamma l_{2}\|x-y\|]^{2} \\ &\leq (1-2\rho k_{1}+\rho^{2}s_{1}^{2})[\sqrt{1-2\gamma k_{2}+\gamma^{2}s_{2}^{2}}+\gamma l_{2}]^{2}\|x-y\|^{2} \end{split}$$

and

$$\rho \|A(J_{\varphi}^{\gamma}(x - \gamma(Bx + Tx))) - A(J_{\varphi}^{\gamma}(y - \gamma(By + Ty)))\| \\
\leq \rho l_{1} \|x - y - \gamma(Bx + Tx - (By + Ty))\| \\
\leq \rho l_{1} [\|x - y - \gamma(Tx - Ty)\| + \gamma l_{2} \|x - y\|] \\
\leq \rho l_{1} [\sqrt{1 - \gamma k_{2} + \gamma^{2} s_{2}} + \gamma l_{2}] \|x - y\|.$$
(12)

From (10)-(12), we have

$$||Fx - Fy|| \le \theta_1 \theta_2 ||x - y||, \quad \forall x, y \in H,$$
(13)

where

$$\theta_1 = \sqrt{1 - 2\rho k_1 + \rho^2 s_1^2} + \rho l_1, \qquad \theta_2 = \sqrt{1 - 2\rho k_2 + \rho^2 s_2^2} + \rho l_2. \tag{14}$$

It follows from (8) that $\theta_1 < 1$ and $\theta_2 < 1$. Thus, (13) implies that F is a contractive mapping and so, there exists a point $x^* \in H$ such that $x^* = F(x^*)$. Let

$$y^* = J^{\gamma}_{\varphi}(x^* - \gamma(Bx^* + Tx^*)).$$

From the definition of F, we have

$$\left\{ \begin{array}{l} x^* = J^\rho_\varphi(y^* - \rho(Ay^* + Sy^*)), \\ y^* = J^{\varphi}_\varphi(x^* - \gamma(Bx^* + Tx^*)). \end{array} \right. \label{eq:constraint}$$

By Lemma 1.5, we know that (x^*, y^*) is a solution of the problem (1).

Next, we show the uniqueness of the solution. Let (u^*, v^*) be another solution of the problem (1). It follows from Lemma 1.5 that

$$\left\{ \begin{array}{l} u^* = J^\rho_\varphi(v^* - \rho(Av^* + Sv^*)), \\ v^* = J^\gamma_\varphi(u^* - \gamma(Bu^* + Tu^*)). \end{array} \right.$$

As the proof of (13), we have

$$\|x^* - u^*\|^2 \le \theta_1 \theta_2 \|x^* - u^*\|^2.$$
(15)

Since $\theta_1 < 1$ and $\theta_2 < 1$, it follows that $u^* = x^*$ and so $v^* = y^*$. This completes the proof.

From Theorem 2.1, we can obtain the following theorems.

Theorem 2.2. Let S and T be the same as in Theorem 2.1. If $0 < \rho < 2k_1/s_1^2$ and $0 < \gamma < 2k_2/s_2^2$, then the problem (2) has a unique solution (x^*, y^*) .

Theorem 2.3. Let K be a nonempty closed convex set of a Hilbert space H. Suppose that A, B, S, and T are the same in Theorem 2.1. If the condition (8) holds, then the problem (3) has a unique solution (x^*, y^*) .

Theorem 2.4. Let K be a nonempty closed convex set of a Hilbert space H. Suppose that S and T are the same as in Theorem 2.1. If $0 < \rho < 2k_1/s_1^2$ and $0 < \gamma < 2k_2/s_2^2$, then the problem (4) has a unique solution (x^*, y^*) .

Remark 2.5. If S = T, then the problem (4) reduces to finding $x^*, y^* \in K$ such that

$$\begin{cases} \langle \rho T y^* + x^* - y^*, x - x^* \rangle \ge 0, \quad \forall x \in K, \\ \langle \gamma T x^* + y^* - x^*, x - y^* \rangle \ge 0, \quad \forall x \in K, \end{cases}$$

which is defined by Verma [20], and is called the new system of nonlinear variational inequalities. Hence Theorem 2.1, 2.2, 2.3 and 2.4 are the extensions of the result of Verma [20].

3. Algorithms and Convergence

In this section, we construct some new iterative algorithms for the problems (1)-(4). We also give the convergence analysis of the iterative sequences generated by the algorithms.

Now we give the algorithm for solving the problem (1) as follows:

Algorithm 3.1. For any given $x_0 \in H$, define the Mann iterative sequences $\{x_n\}$ and $\{y_n\}$ with errors as follows:

$$\begin{cases} x_{n+1} = (1 - \alpha_n)x_n + \alpha_n J^{\rho}_{\varphi}(y_n - \rho(Ay_n + Sy_n)) + \alpha_n u_n + w_n, \\ y_n = J^{\gamma}_{\varphi}(x_n - \gamma(Bx_n + Tx_n)) + v_n, \end{cases}$$
(16)

where $\{\alpha_n\}$ is a sequence in [0,1] and $\{u_n\}, \{w_n\}$ and $\{v_n\}$ are three sequences in H satisfying the following conditions:

$$\sum_{n=0}^{\infty} \alpha_n = +\infty, \quad \sum_{n=0}^{\infty} \|w_n\| < +\infty, \quad \lim_{n \to \infty} \|u_n\| = \lim_{n \to \infty} \|v_n\| = 0.$$
(17)

If A = B = 0, then Algorithm 3.1 reduces to the following algorithm for solving the problem (2).

Algorithm 3.2. For any given $x_0 \in H$, define the Mann iterative sequences $\{x_n\}$ and $\{y_n\}$ with errors as follows:

$$\begin{cases} x_{n+1} = (1 - \alpha_n)x_n + \alpha_n J^{\rho}_{\varphi}(y_n - \rho S y_n) + \alpha_n u_n + w_n, \\ y_n = J^{\gamma}_{\varphi}(x_n - \gamma T x_n) + v_n, \end{cases}$$

where $\{\alpha_n\}$, $\{u_n\}$, $\{w_n\}$ and $\{v_n\}$ are the same as in Algorithm 3.1.

If $\varphi = \delta_K$, then Algorithms 3.1 and 3.2 reduce to the following algorithms for solving the problems (3) and (4), respectively.

Algorithm 3.3. For any given $x_0 \in H$, define the iterative sequences $\{x_n\}$ and $\{y_n\}$ as follows:

$$\begin{cases} x_{n+1} = (1 - \alpha_n)x_n + \alpha_n P_K(y_n - \rho(Ay_n + Sy_n)) + \alpha_n u_n + w_n, \\ y_n = P_K(x_n - \gamma(Bx_n + Tx_n)) + v_n, \end{cases}$$

where $\{\alpha_n\}, \{u_n\}, \{w_n\}$, and $\{v_n\}$ are the same as in Algorithm 3.1.

Algorithm 3.4. For any given $x_0 \in H$, define the iterative sequences $\{x_n\}$ and $\{y_n\}$ as follows:

$$\begin{cases} x_{n+1} = (1 - \alpha_n)x_n + \alpha_n P_K(y_n - \rho S y_n) + \alpha_n u_n + w_n, \\ y_n = P_K(x_n - \gamma T x_n) + v_n, \end{cases}$$

where $\{\alpha_n\}, \{u_n\}, \{w_n\}$, and $\{v_n\}$ are the same as in Algorithm 3.1.

Theorem 3.5. Let A, B, S, T be the same as in Theorem 2.1, and $\{x_n\}$ be the iterative sequence generated by Algorithm 3.1. If the condition (8) holds, then (x_n, y_n) converges strongly to the unique solution (x^*, y^*) of the problem (1).

Proof. By Theorem 2.1, we know that the problem (1) has a unique solution (x^*, y^*) . It follows from Lemma 1.5 that

$$\begin{cases} x^* = J^{\rho}_{\varphi}(y^* - \rho(Ay^* + Sy^*)), \\ y^* = J^{\varphi}_{\varphi}(x^* - \gamma(Bx^* + Tx^*)). \end{cases}$$
(18)

From (16) and (18), we have

$$\begin{aligned} \|x_{n+1} - x^*\| \\ &= \|(1 - \alpha_n)x_n + \alpha_n J_{\varphi}^{\rho}(y_n - \rho(Ay_n + Sy_n)) + \alpha_n u_n + w_n - x^*\| \\ &\leq (1 - \alpha_n)\|x_n - x^*\| + \alpha_n \|J_{\varphi}^{\rho}(y_n - \rho(Ay_n + Sy_n)) \\ &- J_{\varphi}^{\rho}(y^* - \rho(Ay^* + Sy^*))\| + \alpha_n \|u_n\| + \|w_n\| \\ &\leq (1 - \alpha_n)\|x_n - x^*\| + \alpha_n \|y_n - y^* - \rho(Ay_n + Sy_n - (Ay^* + Sy^*))\| \\ &+ \alpha_n \|u_n\| + \|w_n\| \\ &\leq (1 - \alpha_n)\|x_n - x^*\| + \alpha_n \|y_n - y^* - \rho(Sy_n - Sy^*)\| \\ &+ \alpha_n \rho l_1\|y_n - y^*\| + \alpha_n \|u_n\| + \|w_n\|. \end{aligned}$$
(19)

Since S is k_1 -strongly monotone and s_1 -Lipschitz continuous, we get

$$\|y_n - y^* - \rho(Sy_n - Sy^*)\| \le \sqrt{1 - 2\rho k_1 + \rho^2 s_1^2} \|y_n - y^*\|.$$
(20)

Combining (19) and (20), we obtain

$$\|x_{n+1} - x^*\| \le (1 - \alpha_n) \|x_n - x^*\| + \alpha_n \theta_1 \|y_n - y^*\| + \alpha_n \|u_n\| + \|w_n\|.$$
(21)

where $\theta_1 = \sqrt{1 - 2\rho k_1 + \rho^2 s_1^2} + \rho l_1$. Again from (16) and (18), we have

$$\begin{aligned} \|y_n - y^*\| &= \|J_{\varphi}^{\gamma}(x_n - \gamma(Bx_n + Tx_n)) + v_n - J_{\varphi}^{\gamma}(x^* - \gamma(Bx^* + Tx^*))\| \\ &\leq \|x_n - x^* - \gamma(Bx_n + Tx_n - (Bx^* + Tx^*))\| + \|v_n\| \\ &\leq \|x_n - x^* - \gamma(Tx_n - Tx^*)\| + \gamma l_2 \|x_n - x^*\| + \|v_n\|. \end{aligned}$$
(22)

Since T is k_2 -strongly monotone and s_2 -Lipschitz continuous, we have

$$||x_n - x^* - \gamma (Tx_n - Tx^*)|| \le \sqrt{1 - 2\gamma k_2 + \gamma^2 s_2^2} ||x_n - x^*||.$$
(23)

Letting $\theta_2 = \sqrt{1 - 2\gamma k_2 + \gamma^2 s_2^2} + \gamma l_2$, it follows from (21)-(23) that

$$\begin{aligned} \|x_{n+1} - x^*\| &\leq (1 - \alpha_n) \|x_n - x^*\| + \alpha_n \theta_1 \theta_2 \|x_n - x^*\| + \alpha_n \theta_1 \|v_n\| \\ &+ \alpha_n \|u_n\| + \|w_n\| \\ &= (1 - \alpha_n (1 - \theta_1 \theta_2)) \|x_n - x^*\| + \|w_n\| \\ &+ \alpha_n (1 - \theta_1 \theta_2) \cdot \frac{1}{1 - \theta_1 \theta_2} (\theta_1 \|v_n\| + \|u_n\|). \end{aligned}$$
(24)

Setting

$$a_{n} = \|x_{n} - x^{*}\|,$$

$$b_{n} = \frac{1}{1 - \theta_{1}\theta_{2}}(\theta_{1}\|v_{n}\| + \|u_{n}\|),$$

$$c_{n} = \|w_{n}\|,$$

$$t_{n} = \alpha_{n}(1 - \theta_{1}\theta_{2}),$$

then (24) can be rewritten as follows:

$$a_{n+1} \le (1 - t_n)a_n + b_n t_n + c_n.$$

From the assumption, we know that $\{a_n\}, \{b_n\}, \{c_n\}$, and $\{t_n\}$ satisfy the conditions of Lemma 1.3. Thus, $a_n \to 0$ and so $x_n \to x^*$ as $n \to \infty$. Since $x_n \to x^*$, it follows from (17), (22) and (23) that $y_n \to y^*$ as $n \to \infty$. This completes the proof. \Box

From Theorem 3.5, we have the following results.

Theorem 3.6. Let S, T be the same as in Theorem 2.2, and $\{x_n\}, \{y_n\}$ be the iterative sequences generated by Algorithm 3.2. If $0 < \rho < 2k_1/s_1^2$ and $0 < \gamma < 2k_2/s_2^2$, then (x_n, y_n) converges strongly to the unique solution (x^*, y^*) of the problem (2).

Theorem 3.7. Let K, A, B, S, T be the same as in Theorem 2.3, and $\{x_n\}, \{y_n\}$ be the iterative sequences generated by Algorithm 3.3. If the condition (8) holds, then (x_n, y_n) converges strongly to the unique solution (x^*, y^*) of the problem (3).

Theorem 3.8. Let K, S, T be the same as in Theorem 2.4, and $\{x_n\}, \{y_n\}$ be the iterative sequences generated by Algorithm 3.4. If $0 < \rho < 2k_1/s_1^2$ and $0 < \gamma < 2k_2/s_2^2$, then (x_n, y_n) converges strongly to the unique solution (x^*, y^*) of the problem (4).

Remark 3.9. If S = T in Algorithm 3.4 and Theorem 3.8, then we can easily get the result of Verma [20] for the convergence theorem, as a special case.

Acknowledgements. This work was supported by Korea Research Foundation Grant (KRF-2000-015-DP0044).

References

- C. Baiocchi, A. Caopelo: Variational and Quasivariational Inequalities, Application to Free Boundary Problems, Wiley, New York (1984).
- [2] A. Bensounssan, J. L. Lions: Impulse Control and Quasivariational Inequalities, Gauthiers-Villers, Bordas, Paris (1984).

- [3] H. Brezis: Operateurs Maximaux Monotone et Semigroups de Contractions dans les Espaces de Hilbert, North-Holland, Amsterdam (1973).
- [4] F. Giannessi, A. Maugeri: Variational Inequalities and Network Equilibrium Problems, Plenum Press, New York (1995).
- [5] R. Glowinski, P. Le Tallec: Augmented Lagrangian and Operator-Splitting Methods in Nonlinear Mechanics, SIAM Publication Co., Philadelphia (1989).
- [6] R. Glowinski, J. L. Lions, R. Trémolières: Numerical Analysis of Variational Inequalities, North-Holland, Amsterdam (1981).
- [7] P. T. Harker, J. S. Pang: Finite-dimensional variational inequality and nonlinear complementarity problems: A survey of theory, algorithms and applications, Math. Programming 48 (1990) 161–220.
- [8] N. J. Huang: Generalized nonlinear variational inclusions with noncompact valued mapping, Appl. Math. Lett. 9(3) (1996) 25–29.
- [9] N. J. Huang: On the generalized implicit quasi-variational inequalities, J. Math. Anal. Appl. 216 (1997) 197–210.
- [10] N. J. Huang: Mann and Ishikawa type perturbed iterative algorithms for generalized nonlinear implicit quasi-variational inclusions, Comput. Math. Appl. 35(10) (1998) 1–7.
- [11] N. J. Huang: A new completely general class of variational inclusions with noncompact valued mappings, Comput. Math. Appl. 35(10) (1998) 9–14.
- [12] N. J. Huang, Y. P. Liu, Y. Y. Tang, M. R. Bai: On the generalized set-valued strongly nonlinear implicit variational inequalities, Comput. Math. Appl. 37(10) (1999) 29–36.
- [13] N. J. Huang: Generalized nonlinear implicit quasivariational inclusion and an application to implicit variational inequalities, Z. Angew. Math. Mech. 79 (1999) 569–575.
- [14] N. J. Huang, M. R. Bai, Y. J. Cho, S. M. Kang: Generalized nonlinear mixed quasivariational inequalities, Comput. Math. Appl. 40(2-3) (2000) 205–215.
- [15] M. A. Noor: Some recent advances in variational inequalities, I: Basic concepts, New Zealand J. Math. 26 (1997) 53–80.
- [16] M. A. Noor: Some recent advances in variational inequalities, II: Other concepts, New Zealand J. Math. 26 (1997) 229–255.
- [17] M. A. Noor: Set-valued quasi variational inclusions, Korean J. Comput. Appl. Math. 7(1) (2000) 101–113.
- [18] M. A. Noor, K. I. Noor, Th. M. Rassias: Set-valued resolvent equations and mixed variational inequalities, J. Math. Anal. Appl. 220 (1998) 741–759.
- [19] M. A. Noor, K. I. Noor, Th. M. Rassias: Some aspects of variational inequalities, J. Comput. Appl. Math. 47 (1993) 285–312.
- [20] R. U. Verma: On a new system of nonlinear variational inequalities and associated iterative algorithms, Math. Sci. Res. Hot-Line 3(8) (1999) 65–68.
- [21] R. U. Verma: Iterative algorithms and a new system of nonlinear quasivariational inequalities, Adv. Nonlinear Var. Inequal. 4(1) (2001) 117–124.
- [22] G. X. Z. Yuan: KKM Theory and Applications, Marcel Dekker, New York (1999).